- A = A,
2 ST oS EHEE X

&5 89/HMF ololx|

product
design
award W

© HEINRICH KIPP WERK GmbH & Co. KG

EMolRa|

& Ergl I AT M ALgL %42

O% 85 oSt MM = wh7hAY
HH.

HH|7} EHe 9l =2 E2o| Z0IE B4l
QEAL} B2 mf XI&™Mo|m U™ & A,
E| Mg MEfo| OtHMR2 U-Z 2 HFEYH
ST Ao 2 FHE.

AL

7|E} BHE Ay

UMM

K0106

K0098

K0383

K0388

K0390

K0391

K0392

K0393

www.kipp.com - info@kipp.com 1/3



=5 4Y/HIE o[0ix|

RAL 7021 RAL5002  RAL 3020
A = 0 A = 1 A = 3

© HEINRICH KIPP WERK GmbH & Co. KG

B6

B5

~B1

G2

| 4 |

o)
£}
AF

—-I—

‘T
&

&

A3 A3 &
A2 A2
A A
D & D ®
p \
&1
ol & o F 38
& @
A2 A3
A i

www.kipp.com - info@kipp.com 2/3



°
2 SUT LT HTW TS WY ATIS
EZS 29
FEHS THE MY i 2 EYYoi® IRl £ 3 £YY 2YE 2FEYH ZYEY FEHS
2 4 MW+ ZE FH  F1 F2 F3 F4 A= =Hef
N N N N N
K0660.004001 A RAL 5002 1 87° 69° 80 400 500 250 300 K0098.02
K0660.005001 &AM RAL 5002 2 86° 67° 100 650 900 550 620 K0098.02
K0660.006001 A RAL 5002 3 86° 67° 160 1350 1900 720 1200 K0098.04
K0660.008001 A RAL 5002 3 86° 67° 200 2000 2800 830 1400 K0098.04
K0660.010001 —E%;*H RAL 5002 3 90° 71° 250 2200 4500 1200 2800 K0098.06
K0660.012001 &M RAL 5002 4 88° 68° 280 2400 5500 1000 2800 K0098.06
K0660.004000 E'zl’ﬂ.* RAL 7021 1 87° 69° 80 400 500 250 300 K0098.02
K0660.005000 Z3|M RAL 7021 2 86° 67° 100 650 900 550 620 K0098.02
K0660.006000 3|4 RAL 7021 3 86° 67° 160 1350 1900 720 1200 K0098.04
K0660.008000 7.=1§|';H RAL 7021 3 86° 67° 200 2000 2800 830 1400 K0098.04
K0660.010000 H3|M RAL 7021 3 90° 71° 250 2200 4500 1200 2800 K0098.06
K0660.012000 3| RAL 7021 4 88° 68° 280 2400 5500 1000 2800 K0098.06
K0660.004003 4155 #Z RAL 3020 1 87° 69° 80 400 500 250 300 K0098.02
K0660.005003 4155 ' RAL 3020 2 86° 67° 100 650 900 550 620 K0098.02
K0660.006003 412 & Wz RAL 3020 3 86° 67° 160 1350 1900 720 1200 K0098.04
K0660.008003 415 #Z RAL 3020 3 86° 67° 200 2000 2800 830 1400 K0098.04
K0660.010003 4155 ' RAL 3020 3 90° 71° 250 2200 4500 1200 2800 K0098.06
K0660.012003 A= & W RAL 3020 4 88° 68° 280 2400 5500 1000 2800 K0098.06
FEWHS FHE MY M A ATA2 A3 A4 B BT B2 B3 B4B5B6 C C2 D H HI L L1
K0660.004001 XA RAL5002  M4x16 16 24 4 12,80,95 16 24 10,2 7,2 14,115 20 11,74,954,2 28,7 26,3 91,8 237
K0660.005001 =X RAL5002  M5x25 18 2745135 - 16,827,3132 92 - 2 22517,252555 43,4 38,9 1257 418
K0660.006001 T4 RAL5002  M6x35 26 3965 - - 28 39 17,5125 23 25435254 - 55 63,7 59,6 186,6 60,5
K0660.008001 XA RAL5002  M8x45 26 44 9 - - 31 45 21 16 24 25415322 - 62 73,9 70,1 2231 74,9
K0660.010001 =X RAL5002  M10x55 41559 9 - - 43 59 26 19 39 35 47 40 - 88 948 83 2794 1039
K0660.012001 &AM RAL5002  M12x70 44 6510 40 1 42 67 28 21 40 3,5 47 52,313585104,8 101,6 3147 122
K0660.004000 3|44 RAL 7021 M4x16 16 24 4 12,8095 16 24 10,2 7,2 14,11,5 20 11,74,954,2 28,7 26,3 91,8 237
K0660.005000  7Z33|4 RAL 7021 M5x25 18 2745135 - 16,827,3132 9,2 - 2 22517,252555 43,4 38,9 1257 418
K0660.006000 73|44 RAL 7021 M6x35 26 3965 - - 28 39 17,5125 23 25435254 - 55 63,7 59,6 186,6 60,5
K0660.008000 3|44 RAL 7021 M8x45 26 44 9 - - 31 45 21 16 24 25415322 - 6,2 73,9 70,1 2231 74,9
K0660.010000 74§|*H RAL7021  M10x55 41,559 9 - - 43 59 26 19 39 35 47 40 - 88 948 88 2794 1039
K0660.012000  Z3|4 RAL7021  M12x70 44 6510 40 1 42 67 28 21 40 3,5 47 52,313585104,8 101,6 3147 122
K0660.004003 A5 #Z RAL3020 M4x16 16 24 4 12,80,95 16 24 10,2 7,2 14,115 20 11,74,954,2 28,7 26,3 91,8 237
K0660.005003 A5 W7 RAL3020 M5x25 18 274,5135 16,827,3132 9,2 - 2 22517252555 43,4 389 1257 418
K0660.006003 4155 #Z RAL3020 M6x35 26 3965 - - 28 39 17,5125 23 25435254 - 55 63,7 59,6 186,6 60,5
K0660.008003 A5 WZ RAL3020 M8x45 26 44 9 - - 31 45 21 16 24 25415322 - 62 73,9 70,1 2231 74,9
K0660.010003 A5 Wz RAL3020 M10x55 41559 9 - - 43 59 26 19 39 35 47 40 - 88 948 83 2794 1039
K0660.012003 4158 #Z RAL3020 M12x70 44 6510 40 1 42 67 28 21 40 3,5 47 52,313,585 104,8 101,6 3147 122

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com  3/3



